

(4.11.3) $\psi(g) = 1, (\forall g \in G)$ הרכיבים האחרים הם 0

אנחנו רוצים להראות $\sum_{k=0}^{n-1} \psi(\omega^k) = 0$ עבור $\omega \neq 1$

אם $\psi(\omega) = \omega^k$ אז $\psi(\omega^j) = \omega^{jk}$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$

אנחנו רוצים להראות $\sum_{j=0}^{n-1} \omega^{jk} = 0$ עבור $k \neq 0$



$f_1(e^{i\theta}) := f(\theta)$ $(\forall \theta \in \mathbb{R})$

$f_1(e^{i(\theta+2\pi)}) = f_1(e^{i\theta})$

$f_1(x) \sim \sum_{n=-\infty}^{\infty} c_n e^{inx}$

$x \mapsto e^{inx} \quad (n \in \mathbb{Z})$

$z \mapsto z^n \quad (n \in \mathbb{Z})$

$e^{i\theta} \cdot e^{i\phi} = e^{i(\theta+\phi)}$

$\prod_{j=1}^n e^{i\theta_j} = e^{i(\theta_1 + \dots + \theta_n)}$

$\psi(z_1 \cdot z_2) = \psi(z_1) \cdot \psi(z_2)$

$\psi(g_1 \cdot g_2) = \psi(g_1) \cdot \psi(g_2)$

$\psi(g) = \sum_{j=0}^{n-1} a_j \omega^{jk}$